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PART—I / vim—I
CHILD DEVELOPMENT AND PEDAGOGY / aret faa sfv frsi-vm

Directions :
by selectin g
options,

Answer the following quentionn
the correct/most appropriate

1. Two students read the same pasnage
yet construct entirely  different
Interpretations of ity meaning, Which of
the following is true about them?

(1) It is not possible and the students
need to re-read the passage,

(2) It is possible because the teacher
has not explained the passage.

(3) It is possible because different
factors affect learning of individuals
In varied ways,

(4) It is not possible because learning
1s not meaning-making,

2. According to the National Curriculum
Framework, 2005, learning is
and in its character.

(1) active; social
(2) passive; simple
(3) passive; social
(4) active; simple
3. To enable students to think

independently and become effective
learners, it is important for a teacher

to:

(1) offer rewards for cach
achieved by the students

(2) teach students how to
their own learning

(3) give information in small
chunks

(4) present information in  an
organized manner to make it casier

to recall
4. If a teacher wants her students to

acquire problem-solving skills, the

students should be engaged in

activities that involve :

(1) structured worksheets containing
multiple-choice questions

(2) recall, memorization
comprehension

(3) drill and practice

(4) inquiring, reasoning and decision
making
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5. Knowing the naive conceptions that 5. el OF UgaA Al =i hl el srEumensi

students bring to the classroom : 1 ST
(1) pulls down the teacher’s morale e wif
since it increases his work (1) Toreh & Bl = e o 3 R w
IHHT HENR gl §
(2) does not serve any purpose of the
teacher (2) Ters & forelt St 1 ofd =i e
(3) helps the teacher to plan teaching (@) fas F fow o fogmr = arfos ke
more meaningfully T B Ao TR gEEE A2
(4) zxnafin;t::;ihit;xge teacher’s planning (@) Toers 6 v R N
6. Which of the following factors affect 6. Frfifaa # 4 ¥R} 7= fum | ke
learning? Excl A4
A. Motivation of the learner A, Faneff 1 38
i. 'II\‘/Iatu;-atlon of the learner B. Renel £ whaa
. Teaching strategies
: . Togm gfwat
D. Physical and emotional health of - o .
the learner D. faneff &1 T I SO wRe
(1) A, B, Cand D (1) A, B, C3RD
(2) A and B (2) A3B
(3) Aand C
(3) AR C
(4) A, Band C
4) A, B3R C
7. Meaningful learning is :
(1) pairing and association between 7. Wl Afeem R
the stimulus and the response (1) WHWW%WWH‘NW
2) imitation of adults and more able
2 peers (2) sawhi 3R fte wem Wil 1 srge
(3) passive receiving of the given (3) & 8 = = Ffeha mem
information )
: & (4) Tt oyt | I ft W @ whe
(4) active creation of knowledge i
structures from personal
experience
8. foenfdal & sl siftrm % fog Frafafaa
8. Which of the following is not one of the T ¥ wA-, Tgs & s w6l 4} W
primary tasks of a teacher for effective TEt 27

student learning?

(1) Torenfefat =t swwmom &y & gEn wem
A

(1) Transmitting information to the
students in a didactic manner

(2) Knowing the concepts that (2) fernfeit it 37 wronatt = s o S
students bring to the classroom A FE I §

(3) R.equiring students to respond to (3) Frenffl ¥ 39 = F T F I A
higher-order questioning A T

4) Teaching students how to monitor

& and improve their own learning by (4) == ® 77 R & 3 @ sHiwm
effort T I Y @ 3R GUR T
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9. Which of the following statements
about principles of development is
incorrect?

(1) Development depends on
maturation and learning.

(2) Development takes place due to a
constant  interaction between
heredity and environment.

(3) Every child goes through stages of
development, yet there are wide
individual differences  among
children.

(4) Development is a quantitative

process which can be measured
precisely.

10. The unique interaction of _ and
can result in different paths and
outcomes of development.

(1) challenges; limitations
(2) heredity; environment
(3) stability; change

(4) exploration; nutrition

11. Which of the following is true of school
and socialization?

(1) School is an important agent of

socialization.

(2) School does not play any role in
socialization.

(3) School plays very little role in
socialization.

(4) School is the first primary agent of
socialization,

12. Which of the following statements is

correct about Jean Piaget’s theory of
cognitive development?

(1) Piaget argues that instead of
progressing

through stages,
cognitive development is
continuous.

(2) Piaget has proposed five distinct
stages of cognitive development.

(3) The stages are invariant which
means that no stage can be
skipped.

(4) The sequence of the stages can

vary according to the cultural
context of children,
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13. The concept of ‘conservation’ as
proposcd by Jean Piaget means that :
(1) it is important to protect wildlife
and forests
(2) certain physical properties remain
the same even when outward
appearances changc
(3) one can arrive at the correct
conclusion by systematically
testing hypothesis
(4) taking the perspective of others
into consideration is an important
cognitive ability
14. Match the following in the light of
Howard Gardner’s theory of Multiple
Intelligence :

Type of Intelligence End State
(@) Musical (i) Therapist
(b) Linguistic (i) Poet

(c) Interpersonal (iii) Athlete

(d) Spatial (iv) Violinist

(v) Sculptor
(1) a b o d
v i iv i
(2) a b c d
v i v
3 a b - d
iv il i v
4 a b c d
iv i v il

15. According to Lev Vygotsky :

(1) interaction with adults and peers
does not influence language
development

(2) language development changes the
nature of human thought

(3) culture plays a very small role in
language development

(4) children learn language through a
language acquisition device

16. Lawrence Kohlberg’s theory of moral
reasoning has been criticized on
several counts. Which of the following
statements is correct in the context of
this criticism?

(1) Kohlberg has not given typical
responses to each stage of moral
reasoning.

(2) Kohlberg has duplicated Piaget’s
methods of arriving at his
theoretical framework.

(3) Kohlberg’s theory does not focus on
children’s responses.
(4) Kohlberg has based his study

primarily on a male sample.

P-II/1I*
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17. Which of the followin
assessment for learning?

(1) The teache.r assesses conceptual
understanding of the students
besides focussing on the processes
of thinking,

(2) The teacher assesses the students
}Jy Comparing their responses to
standard’ responses.

(3) The teacher assesses the students
based on the information given in
the textbooks.

(4) The teacher assesses a student
based on his/her performance in
comparison to others.

18. ‘Child-centred’ pedagogy means :

(1) the teacher dictating the children
what should be done

(2) giving primacy to children’s
experiences and their voices

(3) enabling the children to follow
prescribed information

(4) the teacher leading all the learning
in the classroom

g highlights

19. Which of the following statements
describes Piaget and Vygotsky’s views
on language and thought correctly?
(1) According to Vygotsky, thought

emerges first and according to
Piaget, language has a profound
effect on thought.

(2) According to Piaget, thought
emerges first and according to
Vygotsky, language has a profound
effect on thought.

(3) Both view thought as emerging
from the child’s language.

(4) Both view language as emerging
from the child’s thought.

20. Watching her granddaughter arguing
with her father for going on a school

trip, the grandmother says, “Why can’t

you be obedient like a good girl? Who

will marry you if you behave like a

boy?” This statement reflects which of

the following?

(1) Gender constancy

(2) Gender stereotypes about
attributes of girls and boys

(3) Improper gender identification of
the girl

(4) Difficulties faced by families in
child-rearing

P-11/1I*
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21. Which of the following statements
about assessment are correct?

A. Assessment should help students
see their strengths and gaps and
help the teacher fine-tune her
teaching accordingly.

B. Assessment is meaningful only if
comparative evaluations of
students are made.

C. Assessment should assess not only
memory but also understanding
and application.

D. Assessment cannot be purposeful if
it does not induce fear and anxiety.

(1) B and C
(2) A and B
(3) B and D
(4) A and C

22. According to the Right to Education
Act, 2009, children with special needs
should study :

(1) at home with their parents and
caregivers providing necessary
support

(2) in special schools created
exclusively for them

(3) in inclusive education setups with
provisions to cater to their
individual needs

(4) in vocational training centres
which would prepare them for life
skills

23. An effective teacher in a classroom,
where students come from diverse
backgrounds, would :

(I) push students from deprived
backgrounds to work hard so that
they can match up with their peers

(2) focus on their cultural knowledge
to address individual differences
among the group

(3) ignore cultural knowledge and treat
all his students in a uniform
manner

(4) create groups of students with
those from the same economic
background put together
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24. Match the

(@)

(b)
(c)

(d)

25.

26.

followi inci
development OWing principles of

et ey with  their  correct
Principle Descri
_ _ ption
i’rr::émodlstal (i) Different children
g;f*;elop at
1ierent rates
Cephalocaudal (ii) Head to toe
trenc! ' sequence
Interindividual (iii) In a single child
differences the rate of '
development can
vary from one
domain of
development to
. the other
Intraindividual (iv) From the centre
differences of body to
outwards
(v) Progression from
simple to complex
(1) a b c d
\ 11 1 iii
) a b o d
iooiv 1 did
(3) a b ¢ d
i div i i
4 a b c d
i

iv i iii
Which of the following statements

about cognition and emotions is

correct?

(1) Cognition and emotions are
intertwined and affect each other.

(2) Cognition and emotions are
processes independent of each
other.

(3) Cognition affects emotions but

emotions do not affect cognition.
(4) Emotions affect cognition but
cognition does not affect emotions.
In an inclusive classroom with diverse
learners, cooperative learning and
peer-tutoring
(1) should be used only sometimes
since it promotes comparison with
classmates
should be actively discouraged and
competition should be promoted
should be actively promoted to
facilitate peer-acceptance
should not be practised and
students should be segregated
based on their abilities

(2)
(3)
(4)
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27. A teacher can address diversity in her
class by :

A. accepting and valuing differences

B. using socio-cultural background of
children as a pedagogic resource

C. accommodating different learning
styles

D. giving standard instruction and
setting uniform benchmarks for
performance

Select the correct answer using the

code given below.

(1) A, B, C and D

(2) A, Band D

(3) B, Cand D

(4) A, Band C

28. A teacher asks her class to cover sharp
edges of furniture with cotton and use

‘Touch and Feel’ notice boards and

books. The needs of which category of

special learners is she attempting to
cater to?

(1) Visually-impaired learners

(2) Hearing-impaired learners

(3) Learning-impaired learners

(4) Socially disadvantaged learners

29. Gifted children are best catered to by
educational programmes that :

(1) make use of gifts and rewards to
motivate them to perform according
to minimum standards of learning

(2) emphasize mastery of knowledge
by recall

(3) stimulate their thinking and give
them opportunities to engage in
divergent thinking

(4) control their aggressive behaviour

30. Which of the following statements
about students’ failure in schools are
correct?

A. Students belonging to certain
castes and communities fail since
they do not have ability.

B. Students fail in schools because
appropriate rewards are not offered
for their learning.

C. Students fail because teaching is
not done in a manner in which it is
meaningful to them.

D. Students fail because school
system does not cater to individual
child’s needs and interests.

(1) C and D (2) Aand B
(3) B and C (4) Band D
P-11/II*

27, w Rt s e i fafeua A dEfa w

Hiﬁ?ﬂ%: )

A Prael @ wiEn w0 3N Sy T W

B, w=dl H umMRE-giEpas JEH A
Tan-TreE TEE % w9 3 T

C. fafim st dfvwt # aaRIRE F

D. wr f¥w ¥ R P ¥g wEw
Treve Puifa F

H Ry g g2 & Inum W ER IR R

(1) A, B, C 3R D

(2) A, B3R D

(3 B, CcmD

4) A, B3RC

28, #1 ffiem st =

2
e
3
=

‘gall AUl IPTE KA T G
O T Fedt 21 98 fra o % e i
) s g A W W R
(1) it Ferram famefi
(2) o femerm Faenedf
(3) @@ = T At Rt
(4) Trnfves w9 @ dfa el
29, wRTIER F= % Y wER o= Nidh FEwn
IFAES
(1) 3% 3R % =[Tan W 6 HH F R

Ia F F Y IR MR [EEER w
ITEA A B

(2) eATETE % gRT T A Tl WA A R

(3) % T A I W ¢ fafow fommd
T @A A T §

(4) T ATHMS HAER HI Frafia wa

30. fraem 1 el f owew F W A

frfafaa # A #9-2 S af &7

A. Ty wnfeet i weEl @ wefta foemefi
IEFEA B & HIh IO Araran T8 Bt

B. frnei femedl § suea €4 § =6 32
arferm % forg 3uge qoaR T e wm )

C. foremefi swer B0 € w0 Figw 3w 7%
Q7 R s s 6 fore Tl B

D. frneff srawa g § wifs fremem sgawen
s famdfi f EweEae iR

sAfiwfat &1 e T8 w@dl|
(1) C R D (2) A3RB
(3) B3 C (4) B3I D

[ P.T.O.



IMPORTANT . Candidates have to do
Question Nos. 31 to 90 Either from Part—II
(Mathematics and Science) Or from
Part—III (Social Studies / Social Science).

Ut : qhaTRiE S W F@ 31 d 90 7 q
ym—i1 (M 3 fame) @ WE—II (e
e | ahi fage) @ 9 8

PART—II

/ w—II

MATHEMATICS AND SCIENCE / wfora iRt famm

Directions ;
by selecting
options.
31. Neqta, a Class VII mathematics teacher,
assigns a lot of survey-based projects

to  mathematics classrooms. The
purpose of such activity is :

Answer the following questions
the correct/most appropriate

A. to promote problem-solving skills

B. to give an opportunity to students
to collect authentic data

C. to break the monotony of the
classroom

D. to use it as an alternate
assessment

Which of the above purposes are true?
(1) A, B and C

(2) A and B

(3) A and C

(4) A, Band D

32. Which of the following terms in
mathematics is defined?

(1) Point

(2) Line

(3) Diagonal of a quadrilateral
(4) Plane

33. Which of the following is not an
important aspect in ‘algebra’”?
(1) Visualization
(2) Measurement
(3) Transposition
(4) Generalization

i : frefefag wwt & W A & AU af /a=
Iugw ooy T
31. &1 VIl @ T e fa, wha ¥

H A wagw W UM Wg Wl
Tt () 3 b @ B

'y
fwmgaaﬁ%aﬁwﬁﬁwﬁam

B. i afedl A TR T T s
farenfifat =6t e F=

C. w&-Ha N Tl H S FA
D. ¥y e ¥ AT T I w

I Rt F § PA-| v &7
(1) A,B3RC

(2) AR B

B8) AR C

(4) A, B3 D

32. Tm # frefafias w@ # A D-w1 12 TR
¥
(1) forg
(2) @
(3) JqS F farepof
(4) EHaw

Frefifes & A f-w v SemPr §
TEEqul A& &7

(1) sl fmm

(2) @

(3) srufEd

(4) =i

33.

SPACE FOR ROUGH WORK / 1% &M % foq wma

P-II/1I*
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34. Problem posing’ in mathematics | 34. T § ‘v @ W e R
means :
(1) v A T w3 sEmeld

(1) inability to solve problems .
(2) e & TR TEIA HTT

(2) raising doubts in the class
(3) W &1 T

(4) Toroerg & W &1 GoW HEA

(3) solving problems

(4) creating problems from the content

35. A good mathematics textbook contains 35, @ A 3= TrT-gH | A §, 57 |w
a lot of :
(1) ww=en & fag ga

(1) questions for exploration
(2) A= TH
(3) T foRT gL e

4) v 3 I It

(2) questions for practice
(3) worked out examples

(4) theorems and proofs

36. Consider the following statement : 36. refifaa woA ® ER HI
“Every odd natural number is a o AT WTRd TEA T T gen )’
prime number.”
Which of the following methods of gy Freffa fifted § @ e
‘proof’ can be used to prove/disprove I HU ¥ ool /@eA ¥ TR s weR H
the above statement? .
. (1) @A faf

(1) Method of disproof

weae] IqUt
(2) Direct proof @ o
(3) Proof by contrapositive (3) L

(4) it gr Squfy

(4) Proof by contradiction

37. T § g % fe fefafea & & #=H-w

37. Which of the following is mnot a
contributing factor responsible for HeF ITEH TE 87
mathematics anxiety? S
1 EEIR
(1) Nature of subject (1)
(2) Gender (@) fem
(3) wiem wefd

(3) Examination system
(4) TTSIHHA

(4) Curriculum

SPACE FOR ROUGH WORK / 1% 4 ¥ fog s

[ P.T.O.
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38. Which of the following numbers does
not lie between :65 and —?

8

5 ™ g

) 2 —f
(1) - (2) =7
-3 =f1

| [ —
3) 2 (4) =

32 [-4)3
39. The reciprocal of (-é-) x(—) is:

5
o () «(2) @
@ 22 @ o

40. 1f (132 -52)3/2 =63 x A, then the value

of A is :
(1) 2* (2) 2
@) 22 (4) 23

41. If x4243 =yv867, where x and y are
co-prime numbers, then the value of

(x-y) is :
(1) 8 (2) 3
3) 4 (4) 6

. -5 7 % 4= 3
33.ﬁﬂﬁﬁm“““@m"§w8ﬁ .

=&t &7
5 -17
M 3 (2 52
5|
(3) —{3 ETY

(1) (_2_)2 x(%]s (2) {595”
@ 22 vl 2

40. 7R (132-5%)%/2=6>x A 3 d A=

oM 2 :
(1) 2° (2) 2
3) 22 (4) 2°

41. R xJ243 =yJ/867 ¥, & x I y
TR~ &I &, 0 (x - y) F1OH ¢ -

(1) 8 (2) 3

(3) 4 (4) 6

SPACE FOR ROUGH WORK / T #M % oy s
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42. The sum of all possible values of a, for
which the 4-digit number 547a is
divisible by 3, is :

(1) 15 2 7
(3) 10 (4) 13

43. A common factor of x* -256,
x3-4x? +3x-12 and x2 -7x+12 is :
(1) x-3 (2) x+4
(3) x-4 4) x+3

44, On dividing the polynomial

8x%-6x2? +10x+3 by (4x+1), the
quotient is 2x? + k, where k is equal to :

(1) -3+2x (2) 3-2x

(3) 3+2x (4) -3-2x

45. In the product of (9x? +15-x) and
(-1-x+x2), if A, B and C are the

42. a ¥ 3| oft vy awl, % g 4-3ifa
U 547a, 3V RAw=a }, MAM R :

(1) 15 2) 7
(3) 10 (4) 13

43. x* -256, x3 -4x? +3x-12 alr
x? - 7x+12 % & 9@ PHES }
(1) x-3 (2) x+4
(3) x-4 (4) x+3

44, 5§78 8x° —6x2 +10x +3 H (4x +1) A ¥

N w smeet 2x2 + k&, w&l K Swe y
(1) -3+2x (2) 3-2x
(3) 3+2x (4) -3-2x

45, (9x2 +15-x) 3 (-1-x+x?) & AEA

coefficients of x3, x2 and x #, af x3, x2 R x F E FAW: A
. ? b ? * B
respectively, then the value of : ’
(ALH-0) b : ARCE,A(A+B-C)F TR R :
(1) 14 @) -3 (1) 14 (2) -3
(3) -17 4) 11 (3) -17 (4 11
46. When x =1 and y= . the value 1 -3 2
9 4'2 46. 5 x=§ 3R y=— R, @ =&
of the expression 8lx +16y2—72xy 2 2
is - 81x“ +16y“ —72xy H AH § :
9 9
kA 1) =
) — (2) 25 W 32 (2) 25
@) 16 @ 2 3) 16 @ 2
4 4
SPACE FOR ROUGH WORK / T% %™ % ffu g
-II/II* 13 [ P.T.O.



47.

48,

49,

50.

51.

Abhi is twice as old as his daughter.
Five years ago, his age was four times
his daughter’s age. If the present age of
the daughter is x years, then :

(1) 2(x-5)=4(2x+5)

(2) 2(x-5)=4(2x-5)

(3) 4(x-5)=2x-5

4) 4(x+5)=2(2x-5)

A sum of ¥6,250 at 8% per annum,
compounded annually, after 2§ years
amounts to : N

(1) €7,872:60
(3) ¥7,581:40

(2) €7,165:60
(4) ®7,727-40

A person marks his goods 40% above
the cost price and allows 40% discount
on the marked price. His loss/gain
percent is :

(1) No loss/gain

(2) loss, 8%

(3) gain, 10%

(4) loss, 16%

The angles of a quadrilateral are in the
ratio 2:3:5:8. The sum of the
supplement of the largest angle and the
complement of the smallest angle is :

(1) 80° (2) 50°
(3) 60° (4) 70°

Two sides of a right triangle measure
15 em and 17 cm. Which of the following
statements can be true of the length of
the third side of the triangle?

A. It is between 4 cm and 7 cm.
B. It is between 20 cm and 23 cm.
C. It is less than 10 cm.

(1) A and C only

(2) B only

(3) A and B only

(4) B and C only

(1) 2(x_5)=4(2x+5)
(2) 2(x._5)=4{2x-5)
(3) 4(x-5)=2x-5

(4) 4(x+5)=2(2x-5)

4s.s%arﬁ$aﬁ,ﬁﬁm""ﬁ$m'

am & €6250 A w T

Ry 2%3'133?‘1‘«’?‘1% ’

2 ¥ 7,165:60

(1) €7,872:60
4) ¢ 7,727:40

(3) ¥£7,581-40

49.@@%@%@3@@7@1140%

sifrq w2 AW #AERd T q
fﬁ:a;amﬁlwzﬁ/w‘mz‘
(1) #¥é w1/ Tl
(2) &, 8%
(3) @M, 10%
(4) ®f, 16%

50. ft wrqe ¥ B 2:3:5:8 % g 1

%lmmﬁm%mwmﬁ

F0 F I B A R
(1) 80° (2) 50°
(3) 60° (4) 70°

51. et wmm fw R @ uE R AN

15 cm 3R 17 cm%lﬁgﬁﬁ?ﬂ'ﬂﬂ’gﬂiﬁ
o ¥ fore P woE § § SH-91/FHA-8 '
B WHal 8/aHa &7

A, T84 cm AM 7 cm & 9= R)

B. 78 20 cm @41 23 cm & €< H R)
C. 98 10 cm ¥ B B

(1) a= A 3l C

(2) %@ B

(3) ¥=@ A B

4) FEm B3R C

SPACE FOR ROUGH WORK / 1% %1 % fau g
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52. If one angle of a triangle is 110°, then
the angle between the bisectors of the
other two angles measures :

(1) 145° (2) 90°
(3) 100° (4) 110°

53. In AABC, AB=4cm, AC=5cm and

BC =6 cm. In A POR, PR =4 cm,
PQ=5cm and RQ=6cm. AABC is
congruent to :

(1) ARPQ (2) APQR

(3) APRQ (4) AQRP

54. A tank is in the form of a cuboid. It
holds a maximum of 540 m?® water. If
the tank is 8 m long and 15 m wide,
then how many metres deep must the

et e wbvser Hhe bl e % full?

(1) 45
(3) 25

(2) 2
(4) 3

55. The ratio of the areas of two equilateral
triangles is 16 : 9. If the perimeter of
the smaller triangle is 63 cm, then how
much larger is a side of the larger
triangle than a side of the smaller
triangle?

(1) 7 cm
(2) 3 cm
(3) 4 cm

(4) 5 cm

56. The area of a triangle is equal to the
area of a circle whose perimeter is
6n cm. If the base of the triangle is
8 cm, then its corresponding height

52. af? frdl B =1 s Fm 110° &, A
3 A T F gEEAEE F 4" TR F R

HY '2 :
(1) 145° (2) 90°
(3) 100° 4) 110°

53. AABC #, AB=4cm, AC=5cm 3R

BC=6cm €I APQOR #®, PR=4cm,
PQ=5cm M RQ=6cm ¥ AABC
gatmem B

(1) ARPQ % (2) APQR %

(3) APRQ % (4) AQRP %

54. TF o TN F AER R ¥ w@h riteran
540 m?3 gl 30 TEa1 31 AR @ <R H F=g
8 m aar e’ 15 m R, @ @ I fi g

mﬁtﬁaz‘l’ﬁ,mﬂ%wﬂgﬁ?

(1) 45 (2) 2
(3) 2:5 (4) 3

55. @ B % &Fwa | ITUE 16 : 9 R)
7R 8 e 1 9™ 63 cm ?, @ = e
H e, o #t o | e i =
27
(1) 7 cm
(2) 3 cm
(3) 4 cm
(4) S cm

56. fFfl Pyl &1 &9%d & 90 F WA &
W%,ﬁmq&msncm%mﬁ%ﬁﬁ:l

{in cm) is : YR 8 cm %: a\' m 'Gi."lﬁ m (crn ﬁ)
(1) 2:25 2 =n (1) 2-25 2) n
3 2 (4) 2-25n (3) 2 (4) 2-25n
SPACE FOR ROUGH WORK / 1% %/ % fou we
P-11/1II* 15
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§7. The mean of mode, median and range

of the data :
2, 1,23, 3,6, 4, 8, 14, 9, 4,8, 4
is :

(1) 9
(3) 6

(2) 4
(4) 7

58. Some students of your class are
repeatedly not able to do well in
mathematics examinations and tests.
As a teacher you would :

(1) explain the consequences of not
doing well

give more tests for practice

diagnose the causes and take steps
for remediation

make them sit with high achievers

(2)
(3)

4)

59. In an inclusive mathematics classroom,
what would be your strategy for
addressing the needs of visually
challenged learners?

(1) Design alternate teaching-learning
and assessment methods.

(2) Send the learners to a special
educator.

(3) Offer them another subject in lieu
of mathematics.

(4) Pair them with high scorers in
mathematics.

60. Which of the following assessment
strategies can be used to assess
learners’ interest in and attitude to

mathematics?

(1) Oral test, Paper-pencil test, Class
participation

(2) Checklist, Portfolio,
test

(3) Checklist, Portfolio, Project, Class
participation

(4) Portfolio, Project, Paper-pencil test

Paper-pencil

57.

58.

59.

60.

233648149484

2,1, mmaw%m

oA 2
(1) 9 (2) 4
e 4) 7
fenff AR TR 5

sl w A 0 7T T F

et 3 T 3 T

#) v frs F €T H A

(1) W?&Tﬁ%qﬁﬂﬂﬂﬁyﬁmﬁ
(2) — e C Al
(3) it 1 Fram i 9= F2m T2

@) ) 7= IuatE e & @19 Fr

wp1 Aif Eofi?

D ey o

(2) Toanfert =1 fdr faas + @ a3

(3) Tifra  =7a s g@a fawa 2 3

(4) TP B I=1 3 YW FH AT F WG T
w1 &1 &7 |

i 3§ faneff f = o bl = s F

fo fraffea & @ F9- gear il e

B Tl 87

(1) dfas vdgn, sre-ia whw, 4 6
wgvTfTan

(2) <= g, Qrewifer), wrm-tire gha

(3) 9 g&h, <Ewiferh, i, a1 A
BIG)

g

(4) e, sfeism, Hre-ihe g

SPACE FOR ROUGH WORK / T% % % fiu sz
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61. Which of the following is not a purpose
of conducting practicals/experimental
activities in science?

(1) They help in scoring high grades or
marks.

(2) They enhance understanding of
science ideas.

(3) They provide an opportunity for
problem solving.

(4) They help in developing
manipulative skills.

62. A few small wax pieces are fixed at
nearly equal distances on a flat strip of
aluminium. One end of the strip is
clamped to a stand and the other end
is heated. Consider the following
statements A and B :

A. Wax pieces begin to fall one-by-one
in the order of their increasing
distance from the flame.

B. Aluminium strip transfers heat
from the end nearest to the flame to
the other end.

Of the two statements given above :
(1) Both A and B are inferences

(2) A is observation and B is inference
(3) Bis observation and A is inference

(4) Both A and B are observations

——-.—-1
61. fram ¥ amaeie e nfafafiat defem

w0 w1 ia Prafefaa @ Fw-w 7 {7

(1) A 3= 37 7 A2 qi o TEEE |

(2) A foum & e R wng wgrd)

(3) A THEA-GHIYM 1 STTEL T Ht |

(4) %mﬁ-ﬁmﬁ%mﬁm
|

62. gt 6 ©F avaa T8 W AW F T

M EE B R R
- 35T T @ &

B. tghifm 6t 9t somm = & % Freream
R ¥ gEt R 6 wmale A R)

(1) A3t B 31 & fod ¥
(2) A Jgm g 3in B fred
(3) B & & 3R A fred

(4) A M B2 H daor &

SPACE FOR ROUGH WORK / % %1 ¥ fotu e

P-11/11*
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63. The students of Class VII are asked the
following question by a teacher :

“Two identical cubes of ice are taken
out of a refrigerator. One is crushed
and the other is left as it is. It is noticed
that the crushed ice melts faster. What
could be the reason?”

Which process skill
through this question?

is promoted

(1) Experimentation

(2) Observation

(3) Hypothesizing

(4) Controlling variables

64. A teacher of Class VII demonstrates the
following activity in the class :

“A leaf is put in a test tube and spirit is
poured over it. Then the test tube is
put in a beaker half-filled with water
and heated till the leaf is discoloured.
The leaf is then taken out and a few

drops of iodine are put on it. The leaf
turns blue-black in colour.”

After this activity, the teacher gives
some questions for the assessment of
various indicators of learning.

Which of the following would assess
‘analysis’?

(1) What care is taken to prevent
damage to the leaf ?

(2) What care is taken while pouring
spirit into the test tube?

(3) What happens to the colour of the
leaf when solution is poured on it?

(4) Can this test be done without
removing chlorophyll?

- @mwamvn%sﬁﬂrﬁhﬁ%ﬁwﬁqma
o 2 o A P e T R oM R
St 21 I8 @ T i

o
ﬂiﬁmﬁqﬁ%umﬂﬂmﬂm

64.

o et Y e A o S # ahe 3w
s fafe 33 Al ¥ Tk A T B
ot @ o) R dftex A @ S R AR S T
% T fEa ST § 9" % Wl H U A I3
m.mmqﬁaﬁmﬁwmm%am
a@%ﬂﬁﬁ@a@wmgﬁﬂwﬁﬁlﬁw
1 - & S g1
7 B % 9. igs aftm & fifim
gl % aTher % I 3B W A R)
frafafaa § 4 FR-T ‘Fvdww’ w1 A
Fm?
(1) wft # 7 7 9§, @ forg =0 wrawwh
st Y

(2) wETet ¥ fRfe e aug w1 g
T M7

(3) V& Wt W NG IITN T, A T F A
gam?

(4) ¥ FRFA N TR fr 77 @ R
ST Hhat 27

SPACE FOR ROUGH WORK / T %™ ¥ fu g
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65. You W

66.

ant your Class VI students to
figure out that the property of solubility
of salt in water can be used to separate
a mixture of sand and salt. As a
supporter of inquiry-oriented pedagogy,
you would :

(1) provide the mixture of sand and
salt to students, ask them to think
up different ways of separation and
help them in trying out their ideas

(2) explain different methods of
separation of mixtures first and
then explain the separation of sand
and salt mixture

(3) ask students to hypothesize about
different ways in which a mixture
of sand and salt can be separated
and then lead them to the
correct answer through detailed
explanations

take a mixture of sand and salt,
demonstrate its separation and
then ask students to repeat it on
their own

(4)

Which among the following statements
describes the relationship between
science and technology?

(1) Science is a broader endeavour
while technology is goal-oriented
and often locale-specific.

(2) Technology is a more creative
process as compared to science.
(3) Science is an ancient enterprise
but technology is relatively recent.
Science and technology proceed
independently and in isolation from
each other.

(4)

6. Craffad Syl § A SR-W1 o r A qFATR

¥ gad F1 9 w87

(1) fee & =AWE W@HE 3, Sl el
ﬂﬁ?g@aﬂtm:mm-ﬁﬁﬁzﬁ?ﬁ%l

(2) fomm R gom § TEAD AUF S
ufsran 21

(3) RE™ T TR Im & WY A 6
g T B

(4) Rgm oiR TiH @ ¥/ IR TR
A -3TA 9gd §

SPACE FOR ROUGH WORK / T %/ % g g
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67. Which among the following is not a
single flower but a group of flowers?

(1) Datura
(2) Rose
(3) China rose
(4) Sunflower
68. A bicycle is moving on a straight road

at a constant speed. The wheels of the
cycle exhibit :

(1) circular, translational and periodic
motion

(2) circular and translational motion
(3) translational and periodic motion

(4) circular and periodic motion

69. Suppose You are a farmer living at a
place having black soil. If the climate
of your region is warm and you want
to grow ﬁbre-yielding plants in your

fields, then which of the following
would you prefer?

(1) Rayon
(2) Coconut
(3) Jute

(4) Cotton

# 4 Pa-w Tha I T R, Ritt
67. gsq’jﬁqiaﬂ%llgﬁi B! 2?

(1) v
(2) T

(3) = A (TSE)

(4) e

bl RN Sl
(1) T, T iR s

(2) T s TR i

68.

(3) TFT=H 3 STt Tifat
(4) T 3R e wfa
69.msﬁﬁqm@mn‘%amméaﬁmﬁ
&l 6t ger weh R) IR
I R, AR AW A G F W wew w
g

8 ITHT 9TeN §, )
mfoeRar 37

(1)
(2) TfEa
(3) S (vewm)

(4) =g

SPACE FOR ROUGH WORK | 1% ¥ i wmg

P-11/11* a0



70. Choose the odd one out.
(1) Embryo .
(2) Egg
(3) Ovum

(4) Gamete

71. The function of saliva is to :
(1) convert starch into sugaré

2) prevent the food from entering the
windpipe

(3) convert carbohydrates into proteins

(4) convert starch ‘into fats

72. Which of the following statements is
correct?

(1) Both inhaled air and exhaled air
contain oxygen.

not contain

(2) Inhaled air does
carbon dioxide.

not contain

(3) Exhaled air does
oxygen.
contain

(4) Exhaled air - does not

carbon dioxide.

70. T = gl

(1) ¥
(2) svs
(3) 3mery

(4) FH

71. mw(w)aﬂzﬁrﬁ%y

72.

(1) e (wr) # whu i aRafda s
(2) T # @ il ¥ R A A

(3) FraterEse H MR F UREiid
(4) Wi () F @ A fEida

Frfafaa 7 & BA-91 U WE 87

(1) sra:vaeH IR J=gaad (v di=q 3
vad ) @ @ YER Hoag o
FHiaisr Bl 1

(2) FraEEd @ (W § diEt ) 9y #
FHTeA SRIATFAES Tl ot |

3) Swggad # (v fwem arh) |
( i Tl Bt .m

(4) IvgEE R (TEE FEen axf) ag 3§
e SIZITFATES T Biell |

SPACE FOR ROUGH WORK / % %M % ot sy
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73. Ritu is standing in front of a plan¢
mirror. The distance between Ritu and
her image is 10 m. If she moves 2m
towards the mirror, then the distance
between Ritu and her image is :

(1) 8m
(2) 10m
(3) 12 m
(4) 6m

74. You have three test tubes X, Y and Z
half-filled with different solutions,
as X is filled with sodium chloride
solution, Y is filled with sodium
hydroxide solution and Z is filled with
dilute hydrochloric acid. On adding one
drop of phenolphthalein solution to
each of the above solutions, you would
observe the solutions in the test tubes
as :

(1) X is colourless; Y is pink and Z is
colourless

(2) X is pink; Y is pink and Z is
colourless

(3) X is pale green; Y is colourless and
Z is red

(4) X is colourless; Y is pale green and
Z is pink

75. In our mouth, the arrangement of
different types of teeth from front to
back is :

(1) canine-incisor-molar-premolar
(2) incisor-canine-premolar-molar
(3) canine-incisor-premolar-molar

(4) incisor-canine-molar-premolar

(3) X—Hw &, Y—ITER A Z—
(4) X—TE; Y— Y1 & aAT Z—Ierst

75. Tt @ ¥ fafE yer F 2 oM A f8 R

3R F B
(1) ETF—haF—TauE— =S
(2) FAHTEAF—UTAFE—TAH
(3) Th-HaF T H—TA
(4) T
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trees, water goes up
uction pull. Which 9[’
henomena causes this

76. In plants and
high due to s
the following p
suction pull?
(1) Photosynthesis
(2) Transpiration
(3) Respiration
(4) Absorption

77. Which of the following is
reproducing part of ginger?

(1) Leaf
(2) Root
(3) Stem
(4) Seed

78. Which among the following liquids are
conductors of electricity?
A. Vinegar
B. Sugar solution
C. Salt solution
D. Distilled water
(1) Band C
(2) A, Cand D
(3) Aand C
(4) Cand D

79. Consider the following statements :
A. Plants can survive for some time
even without photosynthesis.

B. Plants can survive for some time
even without respiration.

C. Photosynthesis and respiration
both are essential for the survival
of plants.

D. Photosynthesis and respiration
both are simultaneous processes in
plants during daytime.

The correct statements are :
(1) A, Band D
(2) A, Band C
(3) B, Cand D
(4) A, Cand D

the

79, R Ry T HuEl W =R Hifv

A. 8 ywm-dveww & fo oft 3O v 9%
Sfifa ® v £

B. 18 vagd & o1 off 3 9 o it ®©
Hehd Bl

C. Nyl & Sifed @A & T ysm-deawor 2t
TIEA ST S SAETEE §

D. & % 99 THm-gyamer 3R saE fiut |

B aIh wele (T @ e BN amEl)
whsraTd &1

Fﬁeﬁﬁﬁ%:

(1) A, B3R D

(2) A, B3R C

(3) B, C3MW D

(4) A, C3RD
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: a
80. A block of wood is lymg_ at rest on
table. What can be said about the

force(s) acting on it?

(1) Gravitational and frictional forces
are acting on it.

(2) There is no force acting on it.

(3) There is a pair of balanced forces
acting on it.

(4) Only gravitational force is acting
on it.

81. Which type of leaf pattern, i.e., legf
venation and root type are present in
bamboo?

(1) Reticulate venation and tap root
(2) Parallel venation and fibrous root
(3) Parallel venation and tap root

(4) Reticulate venation and fibrous
root

82. Which of the following facts is not
correct about magnets?

(1) Magnetic field lines originate
from north pole and merge at south
pole of a magnet.

(2) Attraction is a sure test of

magnetism.

(3) Like poles of magnet repel each
other.

(4) Magnetic field is stronger at the
poles of a bar magnet,

2l

2) @
( Wﬁ?ﬁiﬂﬂnﬁﬁﬂaw&w

3) W
”m%l

@) @ T T
@ 2

81 ot 3 iy A afe 3 Rro-fem @ s R
" o B &7
(1) e fira- R AR gEen s

(2) FHRR Rra-fa=ma 3fR W (Fhg1) w1g
(4) ired Ra-frmd iR WeER ()
g

82. = % fwg # = fom 1 BH-w qe w
& 27

W%ﬂmﬂ}@%%m 3
(llm%ﬁ'cﬁ%eﬂt mgam%ﬁﬁ
STl g1

2 Wg&mmwﬁﬁﬁavﬂmm
) Tzl o g1 TR R ey
|

(4) B3 %ﬁﬁm@mﬁqmm
TS Bl )
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83. Match

the

(a) Iodine

(b) Mercury

following metals and
non-metals with their uses :

(i) Water purification

(i) On wounds

() Aluminium (iii) Thermometers

(d) Chlorine

(1) a
iv

(2) a
(3) a
ii

4 a
ii

ii

1

iii

11

(iv) Food packaging

iii

1

iv

iv

84. Select the true statement from the
following.

(1) Melamine

is

a

thermoplastic

whereas bakelite is a thermosetting
plastic.

(2) Bakelite and melamine are both

thermoplastics.

(3) Bakelite and melamine are both
thermosetting plastics.

(4) Bakelite is a thermop]astlc where-

as melamine is a thermosetting

plastic.

83. 13 & 7 urgadl o el w1 frEm I

I R Hfg

(a) oTRIER (i) -
(b) Rl (i) @M@ ®

() Uaffmm (i) ol
(d) == (iv) @r-yel i

femmidt (Yafm) A

(1) a b C d
iv ii iii i

(2 a b c d
3 a b c d
i v i
4 a b ¢ ed
i i iv i
84. frefafaa # ¥ e wuw sifen)

(1) ¥emE  oeniREd g aaﬁﬁ EE | A
TR e R

(2) SHerge AR Aemre <Ht @ U g

(3) IFamEe SN AaATE QA A wwwfen
IR §

(%Wﬁw@m%wﬁsm
i wnfe® B
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Directions : Question Nos. 85 to 87 are
based on the following passage.

A teacher of Class VIII demonstrates the
following activity in her class :
“The teacher takes g small
sulphur in a spoon and burns it. She then
puts the spoon into a tumbler with a lid to
ensure that the gas produced does not
escape. After a few minutes, she adds water
to the tumbler.”

amount of

85. What happens if blue and red litmus
papers are put into the tumbler?

(1) No change in both.
(2) Blue litmus turns red.
(3) Blue litmus remains blue.

(4) Red litmus turns blue.

In the above demonstrated activity,

which substance is formed when
sulphur dioxide is dissolved in water?

86.

(1) Sulphur hydroxide
(2) Sulphuric acid

(3) Sulphuric oxide
(4) Sulphurous acid

Which process skills can be promoted
through the above activity?

(1) Observation and controlling
variables

87.

(2) Observation, inference and
measurement

(3) Observation, classification and
inference

(4) Observation and measurement

e« e BT T P

mftf.fﬁi # 49
:mvmzﬁﬁﬁfw‘ﬁmﬂﬁm fag my
fergreRed <

i ey A
frferrr 3 T ]

ot :
aﬁg_mqmﬁwaﬁtﬁml
ara firema % e’ @ iy

ss.mﬁm%ﬂﬁwﬁmﬁ:ﬁamm

o1 =@ W &
(1) ﬁﬁﬁmqﬁmf

- v Forzwra 1 el @ Sl R
(3) e fores 77 e 9 T 21
@ et ferera v <fren B S 1
(1) WeH EEGITAES
(2) R T
(3) HewgRe HATFETES
(4) FoRE SR
87. I1dw fmmrem g1 R Wik Fremst w
Wrearfea fopan < wshar 87
(1) Sagor TR =0 W =
(2) o1, Fread Freprern iRk 7oa
(3) Stayor, wnfieror 3fi foeaed Frerrer
(4) & R AT

86.
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88. A science teacher asks her students to
put two drops each of oil and sugar
solution on a flat surface. She then
asks them to tilt the surface and
observe the order in which the drops
reach the bottom. Which property of
the liquids is the teacher trying to bring
to the students’ attention through this
activity?

(1) Point

(2) Viscosity
(3) Solubility
(4) Volume

89. You find that many of your Class VI
students believe that raw material for
plant growth comes only from the soil.

Which among the following would be

the most appropriate

counter this idea?

(1) Show the students a well-prepared
PowerPoint presentation on photo-
synthesis.

(2) Explain in detail the process of
photosynthesis and the chemical
reactions involved.

strategy to

(3) Provide the students with a money -

plant in water and ask them to
observe its growth and make an
inference.

(4) Provide the students with an
interesting reading material on the
process of food manufacture in
plants.

90. The criterion of process validity of

science curriculum requires that :

(1) science should be taught as a
specialized discipline with its
unique characteristics

(2) science should be presented as a
value-free discipline uninfluenced
by societal concerns

(3) learners should be familiarized
with various natural processes

(4) learners should be engaged in

processes that lead to generation of

scientific knowledge

89.

90.

(2) FerTRI-wTRU i W qu Hee TR
wRfrmaT = fargds awam

(3) Tt # wrt F A wie A sk
e 3 = Jgo W Pl Free %
fore =g

(@) det # shem-frim H when F aR A

et 1 we® Yo Gl Iqeed
FEAT

fEE TeTHET it YR dua % TEETS 6

e 3 6 -

(1) fram A o 3R frd e F w9 % wgEn
s = fraeh ot faRreand &

(2) Rm A gl ¥ g Tl Wk A
ar@%muéﬁaﬁwﬁa | % wga fen S

3) Fatid + fftm wpke whemst |
HRT ST 1Y

(4) Tranfigt =t i wfsenet # s @ swn
wifze <0 gfE d= B 4 ww f Rm
# & 9 g |
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IMPORTANT Candidates have

Question Nos. 31 to 90 Either from Part—II yr—II ) & -l
(Mathematics and Science) Or from Part—III | g/ qrfers

(Social Studies/Social Science).

to do

fo A 90 T 3
:qﬂmﬁfﬁaﬁﬂ‘ﬂ“ As
(T[ﬁ'lﬁ i fagm) @ ar—IIL (Wi

—III

SOCIAL STUDIES/SOCIAL SCIENCE
A ; Preafafea T E2
Fagw freed g

Directions : Answer the following questions
by selecting the correct/most appropriate
options.

31. You observe that students exhibit
prejudices in a Social Science class.
What would be your most appropriate
response?

(1) Organize a discussion on dimen-
sions of social reality.

(2) Ignore these comments.

(3) Reprimand students.

(4) Bring the chapter to a close.

32. From the given measures A, B and C,
choose the most appropriate ones for
teaching of social and political life :
A. Case studies
B. Definitions
C. Visual materials
(1) A, Band C
(2) Aand B
(3) Aand C
(4) B and C

33. The most appropriate use of end-of-
the-text questions in chapters is :

(1) to identify important sections from
the chapter

(2) to enable students to understand
and express in their own words
what they have learnt

(3) to assist teachers summarize the
chapter for the students

(4) to ‘suggest questions for
examinations

34. As per continuous and comprehensive
evaluation, which of the following
objectives is most appropriate
regarding assessment?

(1) To encourage students to give
responses

(2) To check students’ recall of subject
content

(3) To compare and rank students

(4) To motivate students by giving

marks

P-11/11*
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35. History will help you to :

36.

37.

38.

39.

how the present

A. understand
evolved

B. understand the working of our
physical and social world

C. compare the past with the present

Which of the above are correct?

(1 A and B

(2) A, B and C

(3) B and C

(4) A and C

A teacher wants to assign a project on

‘Partition of India’ based on primary

sources. Which of the following is not a

primary source?

(1) Newspaper archives

(2) Oral history

(3) Novels

(4) Autobiographies

Which of the following subjects is not

included in Social Science at the upper

primary level?

(1) Psychology

(2) Political Science

(3) Geography

(4) History

When a narrative is given on situations

of two people living in different

contexts, the Social Science teacher

must encourage students to :

(1) make caste/class/gender distinc-
tions among them

(2) make value judgements about the
characters in the narrative

(3) examine information presented
through them .
(4) identify role models from among

them

Which of the following statements

provides a correct description of Social

Science at the upper primary level?

(1) It stimulates critical thinking and
imagination.

(2) It is less scientific and is based on
beliefs.

(3) It is not useful in real life and for

getting employment.

(4) It is full of facts which are to be

memorized.
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(1) A3 B
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40. Which of the follo

" 41. A teacher w

43. Which

Wing human values
would be most important for ensuring
principles of social equality?

(1) Efficiency

(2) Consumerism

(3) Competitiveness

(4) Mutual respect

ants students to find out
the Sources of funds available to a
municipal corporation. Which of the
foll_owing methods would be most
reliable and feasible?

(1) Searching government web sites
(2) Conducting

interviews with
councillors
(3) Holding  discussions amongst
themselves
(4)

Organizing a lecture by an expert

42. Which of the following contents could

be best depicted in a pie diagram?
(1) Distribution of air pressure
(2) Distribution of water bodies
(3) Distribution of ocean currents
(4) Distribution of temperature

of the following learning
materials is most relevant to teaching

of ‘Rotation of the Earth’ at Class VI
level?

(1) Globe
(2) Atlas
(3) Map
(4) Chart

44. Consider the two themes A and B and

choose the correct theme/themes to
discuss gender parity :

A. Dignity of labour

B. Home management responsibilities
(1) Both A and B are irrelevant

(2) Only A is relevant

(3) Only B is relevant

(4) Both A and B are relevant

45. Which of the following methods could

be considered most appropriate for

encouraging students to think like
historians?

(1) Source method
(2) Project method
(3) Storytelling

(4) Inquiry method
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46. The best methodology to teach the

' 47.

48.

49,

50.

theme, ‘Factory’ would be to :
(1)
(2)
(3)

narrate a story
invite a resource person

organize a visit to an industrial
plant

screen a documentary film

(4)

Consider the following three
statements on the Rigveda and choose
the correct answer :

A.
B.
C.

It was written 3500 years ago.
It was composed in Prakrit.

It has more than a thousand
hymns.

(1) A is false, B and C are true
(2) A is true, B and C are false
(3) B is true, A and C are false
(4) C is true, A and B are false

In which of the following oceans is
Mauna Kea (Hawaii), an undersea
mountain higher than Mount Everest,
found?

(1) The Indian Ocean
(2) The Atlantic Ocean
(3) The Pacific Ocean
(4) The Arctic Ocean

Vinaya Pitaka is a book that records :
(1) Jain teachings

(2) Vedic rituals

(3) conversations among teachers

(4) Buddhist rules

Who among the following supervises
the work of the ‘Patwaris’

(1) Sarpanch of the Village Panchayat
(2) Tehsildar
(3) District Collector

(4) SHO of the Police Station of the
area
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46.

47.

48.

49.

50.
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(1) T FE I
(2) e om0 Prifia e
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51. Which of the following statements is a7
correct about Megaliths? PH-H1 o - Zf¥ J g ¥ F U

(1) All were found underground and
hidden away from view.

(2) They provided raw materials for (2) ¥ TR %
making stone tools. Sqerey Fd A .
(3) They were concentrated in the ¥ v SqaEE % sar-ufeed | LGEAE
North-West  of the Indian 3) a
subcontinent. 5 fafea
(4) They were used to mark burial (4) T SHAT T FA A
sites. F0 ¥ forg o stran &1l
: ?
52. Which of the following are mot | sp. Prfufm § @ #m-d sEFda ot 7€ &
earthquake waves? (1) W A
(1) Surface waves 2) —
(2) Longitudinal waves ( mﬂiami ! b
(3) Harbour waves (3) -
(4) Transverse waves (4) HPrE -
53. What is EDUSAT? 53. Tghe (EDUSAT) ¥ 71 S & 2
(1) The rocket that carries man-made (1) Tpe fommeht v A -

t
satellites to be placed in the orbit $ Hey T TTRE = ¥ ferg fomam ST
around the Sun (2) died § @S ™1 T 41 T8

(2) A newly discovered planet in the (3) T &3 TE R Hre R gEeEfd # ey
solar system
. ¥ o9 T ST R
(3) An asteroid found between the
orbits of Mars and Jupiter (4) e wra-fafia vRdta SWE
(4) A man-made Indian satellite 54. P aioreal § 2 el wrm A A
54. Which of the following spheres has e g S €, S agEEn d @ o HR
living organisms including humans fera g &7
that are majorly affected as a result of (1) Sfadea
global warming? > ;
(1) Biosphere (2) W% I‘:EI
(2) Hydrosphere (3) wemHST
(3) Lithosphere (4) 9igRse
(4) Atmosphere 55. WA %1 &9 WK, Sl Y@ee &t § & g,
55. In which of the following categories of P & & it 6 fvw Aof F arerfa o
rocks does Deccan Plateau of India, 27
made up of basalt rocks, fall? (1) FaER e
(1) Sedim&?nta‘ry rocks . (2) afT s de
B ol 9 5 i e
ntrus .
(4) Metamorphic rocks () i
56. Which of the following landforms is | S0 noionad et § 3 R i frdet A
largely rich in mineral deposits? S T St 7
(1) Valley (1) =&
(2) Plain (2) M
(3) Mountain (3) wEa
(4) WK

(4) Plateau
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57. Consider the following two statements
about elections in a democracy :

A. In a representative democracy,
people participate indirectly by
electing their representatives who
make decisions for the entire
country.

B. The governments can be changed
by regular elections.

Choose the correct option.
(1) Both A and B are false
(2) A is true, B is false
(3) A is false, B is true
(4) Both A and B are true

58. Which of the following is not a site of
the Mughal Chahar Bagh?

(1) Quwwat-ul-Islam Mosque
(2) Humayun’s Tomb

(3) Shalimar Garden

(4) Lal Mahal Bari

59. Which of the following statements is

correct about Panchayati Raj System
in India?

(1) The Secretary of the Gram Sabha is
elected by its members.

(2) The Zila Parishad is the second tier
of the Panchayati Raj System.

(3) The tenure of a Gram Panchayat is
4 years.

(4) Each state of the country has its
own laws with regard to the
Panchayats within the constitu-
tional guidelines.

60. The verses and ideas of which of the

following personalities have been
preserved in ‘Panchvani’ and ‘Bijak’?

(1) Mirabai

(2) Kabir

(3) Guru Nanak
(4) Ravidas
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61. Which of the following statements

about th.e Gond Kingdom of Garha
Katanga is correct?

(1) It became much stronger against
the weaker Bundelas and
Marathas.

(2) It was a rich kingdom. It earned
wealth by trapping and exporting
wild elephants to other kingdoms.

(3) In 1565, the Mughal forces

attacked Garha Katanga and were
defeated by Rani Durgawati.

(4) The kingdom only comprised cities.

62. The wall relief from Cave 15, Ellora,

which shows Vishnu as Narasimha, the
man-lion, is a work of which period?

(1) Gurjara-Pratihara period
(2) Rashtrakuta period

(3) Chalukya period

(4) Gupta period

63. From among the following, which is a

correct feature of the ‘Barter system’?

(1) It is a trade in which goods are
exchanged with the use of money.

(2) It makes exchange of things easier.

(3) It is an expensive and time-
consuming process.

(4) It is a trade in which goods are
exchanged without the use of
money.

64. In which of the following landforms are

‘Mushroom rocks’ found?
(1) Desert

(2) Delta

(3) Glacial moraine

(4) Sea cave

65. Under whom did Bengal gradually

break away from the Mughal control in
the 18th century?

(1) Nadir Shah

(2) Murshid Quli Khan

(3) Nizam-ul-Mulk Asaf Jah
(4) Alivardi Khan
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V

Match the following and choose the

66- correct answer :

Layers of the Features
atmm;phm'e
" Troposphere () Ionosphere is part

of this layer.

o) gtratosphere (i) Meteorites burn

up in this layer
on entering from
the space.

© Mesosphere (iii) It contains a layer

of ozone gas.

(d Thermosphere (iv) Almost all the

67.
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weather pheno-
mena occur in
this layer.

(1) a b c d
iv -l ii i
(2) a c d
i iii v

b
ii
(3) a b c d
i
b

ii iv il
4) a c d
iii v i ii
Consider the following two statements

about medical tourists in India :

A. They are foreigners who come to
India specifically for medical
treatment at hospitals that provide
world class facilities at a lower cost
than what they would have to pay
in their own countries.

B. They are migrants from within
India who move from one state to
another where there are low-cost

66. Praffaq &1 frem g R @ W H
47 iy

T Y U Rrdraamg

(a) &dsa (i) IEHSe §9 WA B
& N 21

(b) BHATHEE (i) raRe & TET A
Tt Fehie 7@ T |
M S I ¢

(c) wemiEa (iii) F@ ST T A TH
o Bl 21

(d) =T TIgESE (iv) whem i T ad
HeATe 39 qta # =fed

Tt €1

(1) a b c d
iv i ii i
(20 a b c d
i ii i v
3 a b ¢ d
ii i iv. i
4) a b c d
iii v i ii
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¥ W UST & I WAaE § ST g
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state. et fawew = gl
Choose the correct option. (1) A 3 B 3! 7w &
(1) Both A and B are false (2) ATA2, B e 3
(2) A is true, B is false "
(3) A is false, B is true (3) AT, B WA ?
(4) Both A and B are true (4) A 3R B3 @ &
o [ BEG,
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68. Ramabai who championed the cause

: :
of women'’s education never went to

school. Yet she was gi i
‘ ‘ iven the title
Pandita’ because : ¢

(1) Widows and poor women in her
Mission were not only encouraged
to become ljterate but also become
Independent with the help of
vocational skills

(2) she learnt to read and write from

her parents

(3) she could read and write Sanskrit,
a remarkable achievement, as
women during her time were not
allowed to acquire such knowledge

(4) she set up a Mission in Khedagaon
near Pune for promoting women’s
education

69. In 1856, who among the following

Governor  Generals decided that
Bahadur Shah Zafar would be the last
Mughal King and after his death none
of the descendants would be recognized
as a King?

(1) Cornwallis
(2) Canning
(3) Dalhousie
(4) Hastings

Which of the following statements is
incorrect about Gandhiji’s views on
colonial education?

(1) Education in English distanced
Indians from their social
surroundings.

(2) Colonial education created a sense
of inferiority in the minds of

Indians.

(3) Western education valued
textbooks  rather than life
experiences and practical
knowledge.

(4) English education focussed on oral
knowledge rather than reading and

writing.
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71. Consider the following two statements
about the changes brought about in
the administrative policies of the
British Government immediately after
the Revolt of 1857 :

A. The British Parliament passed a
new Act in 1858 and transferred all
powers of the East India Company
to the British Crown.

B. It was decided that the proportion
of Indian soldiers in the army
would be increased and the
number of European soldiers
would be decreased.

Choose the correct option.
(1) Both A and B are false
(2) A is true, B is false
(3) A is false, B is true
(4) Both A and B are true

72. Who among the following was a veteran
nationalist leader of the ‘Salt
Satyagraha’ in South India?

(1) C. Rajagopalachari .

(2) Sardar Vallabhbhai Patel
(3) Potti Sriramulu

(4) Mahatma Gandhi

73. Jyotirao Phule dedicated his book,
Ghulamgiri to which of the following?

(1) Indian soldiers who' died in the
Second World War

(2) Indians who participated in the
Indian freedom struggle

(3) Americans who participated in the
American Civil War to end slavery

(4) Women who participated in the
Suffragette Movement in Britain

74. Consider the following two statements
about the High Courts in India :

A. The High Courts are under the

State Governments and act on their
behalf.

B. All judges of the High Courts are
appointed in consultation with the
Chief Ministers of the states.

Choose the correct option.
(1) Both A and B are false
(2) A is true, B is false
(3) A is false, B is true

o 1857%%&3%%3:3%&11@@
uale AREl # et ufEddl & wWed #
Frafafaa @ R w e A .
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75. Which of the following items known as
‘Calico’ were taken back by the
Portuguese to Europe from India?

(1) Piece goods

(2) Spices
(3) Cotton textiles
(4) Muslin

76. A teacher feels that there is
considerable content-load at the upper
Primary level. Suggest the best

approach from the following options to
resolve this problem.

(1) Skip the activities which are not
examined.

(2) Identify important areas from each
chapter and give notes.

(3) Teach the whole syllabus rapidly.

(4) Develop themes that
teach several concepts
disciplinary boundaries.

could
across

77. Deep bores are made to reach mineral
deposits that lie at great depths. This
kind of mining is known as :

(1) quarrying

(2) open-cast mining
(3) shaft mining

(4) drilling

78. Uranium found in Ladakh is an

example of :
(1) deposit resource
(2) actual resource
(3) potential resource
(4) stock resource
79. Hot springs are formed as a result of
heat energy obtained from :
(1) geothermal energy
(2) solar energy
(3) tidal energy
(4) wind energy
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80. From among the following, select the

correct feature of plantation farming
practised in the world.

(1) In this type of farming, farmers
work with the help of their family
members for an intensive use of
land.

(2) This cultivation is practised in the
interior of the semi-arid lands of
. the midlatitudes.

(3) There is low yield per acre.

(4) This is a commercial type of
farming practised on large estates.

~ 81. Which of the following cities had always
a unique advantage as a city with

highest availability of middle and top
management talent?

(1) Bengaluru (Bangalore)
(2) Pune

(3) Chandigarh

(4) Kochi

82. The ‘Legislature’ organ of the state
refers to :

(1) bureaucrats responsible for
implementing laws

(2) the judges of the Supreme Court

(3) the elected representatives of the
citizens

(4) every citizen of the country

83. Which of the following statements
about the redressal of a case under
criminal law is correct?

(1) First FIR is lodged with the police
and then a petition has to be filed
before the relevant court by the
affected party only.

(2) First FIR is lodged with the police
and it is then that the case is filed
in the court.

(3) No FIR is lodged and a petition has
to be filed before the relevant court
by the affected party only.

(4) First the case is filed in the court
and then the FIR is lodged with the
police.
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84. Which of the following statements
abm".lt the role of police in investigating
a crime is correct?

(1) Pol;'ce can use confessions made in
police custody as evidence against
the accused.

(2) The Supreme Court guidelines do
not allow police to torture or beat or
shoot anyone during investigation.

(3) It is the job of police to decide
whether a person is guilty or not.

(4) If police think that the evidence
points to the guilt of the accused
person, then they may file an FIR
in the court.

85. Consider the following two statements
on Fundamental Rights :

A. All Fundamental Rights laid down
in the Constitution of India are
enforceable in court.

B. The Right against Exploitation
allows a citizen to move the higher
court if he/she believes that the
decision taken by a lower court is
unjust.

Choose the correct option.
(1) Both A and B are false
(2) A is true, B is false
(3) A is false, B is true
(4) Both A and B are true

Directions (Q. Nos. 86 to 88) : Read the
paragraph given below and answer the
questions that follow.

Ranjan, who uses a wheelchair, has his
classes held on the third floor of the school
building. He waits everyday for the
attendants to lift him up and carry him to his
class through a crowd of students.

St w0 & g B F
aaﬁﬁﬁﬂﬂ—mmw;ﬁ

e & fg Y TR W 5
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86. YR wiaum % fFa sg=de H P B @

85.

B.

86. Which Article of the Indian 27
Constitution is being violated?
(1) Article 360 (1) =% 360
(2) Article 15 (2) Ig=% 15
(3) Article 25 (3) gD 25
(4) Article 370 (4) g=3= 370
40
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87. Which .provision of the Disabilities Act
1995, is the school not following? ,

(1) Schemes and programmes
non-formal education

(2) Educational rights of pers i
disability pRIEER W

(3) Safe access to public place
buildings with ramps P s

for

(4) Mainstream and in
] te
education for persons gr::ia
disability

88. Which of the following activities with
student_s would be most appropriate for
developing empathy towards Ranjan?

(1) Brainstorm on how to lift
wheelchair. SHERES

Ask students to carry Ranjan up
and down the stairs.

Hold a role-play where students
experience being carried in a
wheelchair.

(4) !nvite a lawyer to give a lecture on
Persons with Disabilities Act’.

(@)
(3)

89. Wh.ilc selecting a historical narrative,
which of the following objectives should
be considered?

(1) Imparting value judgements

(2) Highlighting popular incidents

(3) Valorizing famous personalities

(4) Making causal relations and
inferences

90. You are teaching the topic, “The Cholas’
from the chapter, New Kingdoms’. At
the end of the lesson, there is a section
‘Elsewhere’, providing information on
the Tang Dynasty of China (Class VII,
Our Pasts II, Page No. 28). As a
Social Science teacher, what would
be your pedagogical consideration in
discussing this?

(1) Provide students with a chance to
imagine China’s past.

(2) Compare historical development in
different societies.

(3) Introduce students to world
history.
(4) Make students aware of interesting
. facts.
41
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PART—IV

Language—I
ENGLISH

IMPORTANT : Candidates should attempt questions from Part—IV (Q. Nos.
91 to 120), if they have opted ENGLISH as Language—I only.

Directions : Answer the following questions
(Q. Nos. 91 to 105) by selecting the
correct/most appropriate options.

91, Language is a tool because :
(1) it is used for communication
(2) it is used for processing ideas
(3) it is used for thinking
(4) it is used for conveying ideas
92. Childrén can best learn a language
when they have :
(1) a proficient language teacher
(2) inhibition
(3) motivation

(4) a good textbook

93. TBLT in second language teaching is :
(1) Task Book Language Teaching
(2) Tool-Based Language Teaching

(3) Task-Based Language Teaching

(4) Task-Based Language Training

P-11/1I . 42

94.

95.

96.

97.

The second language should be

taught through :

(1) using the target language as
much as it is possible

(2) mother tongue and translation
(3) learners’ background and talent
(4) grammar and rules of language

There are 44 sounds in English. Out
of these, how many sounds are vowels
and how many are consonants

respectively?

(1) 5, 39
2) 22, 22
(3) 10, 34
(4) 20, 24

A speech community refers to g
community which :

(1) speaks different dialects
(2) wuses different languages
(3) speaks the same language

(4) connects by virtue of a link
language

Pedagogical grammar is :

(1) learning of meanings through
form

(2) learning of rules first and then
the meanings of words

(3) learning of grammar in context
through use

(4) learning of grammar through
prose and poetry



When learners have diverse linguistic

backgrounds, the teacher should :

form groups in accordance with
their linguistic backgrounds

ascertain their learning styles
use multilingual approach

start the class with brainstorming
sessions

Which of the following ways is not

appropriate for teaching a reading
text?

98.
(1)
(2
(3
4
99.

(1)
(2)

3)

4

Teacher reads out and explains
the text line-by-line.

Learners are made into groups
and asked to read by taking
turns.

Learners read individually and
discuss with their friends the
ideas of the text.

Learners divide the text into small
chunks and read.

100. Post-reading tasks are meant for :

(1)

2

3)

4)

assessing the
connecting it
situations

learning and
to real-life

giving the meaning of difficult
words

introducing the main idea of the
text

explaining the grammatical rules
in the text

101. Intensive reading is aimed at helping

the
(1)
(2)
(3)
(4)
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learners read a text for :
improving study skills
accuracy

pleasure only

information

43

102.

Process writing approach could be

described as :

(1) horizontal approach

(2) bottom-up approach

3)

top-down approach

(4) vertical approach

103. Abeera, an English teacher, describes

a scene and asks the learners to draw
what they have heard. This is a :

(1)
(2)
(3)
(4)

picture story
mutual dictation
picture dictation

picture composition

104. While teaching a ‘One-Act Play’, a
tableau can be used as one of the
teaching strategies. The tableau refers

to :
(1)
(2)

(3)
4)

a monologue

silent still image made by actors
posing as characters

some musical instrument

dialogues between different actors

105. A teacher divides her class into pairs

to

exchange their notebooks and

make corrections as per the direction
of the teacher. What does she do?

(1)
(@)
(3)
(4)

Group assessment
Correction
Assessment

Peer assessment
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T
Directions Read the passage given Chandni Ch
below and answer the questions that

follow (Q. Nos. 106 to 114) by selecting
the correct/most appropriate options.

What we call Old Delhj is actually only about
350 years old, which is not terribly ancient,
considering that the city was inhabited
around 1000 to 800 BC. But it is a good place
to look because Old Delhi has retained its
character from the Mughal days. Most of
what we call Old Delhi was built by the
emperor Shah Jahan who, with characteristic
modesty, called it Shahjahanabad. The city
was built around 1640-1650 AD (so, by Delhi
standards, it is actually young!) and
remained the capital of the Mughal empire

ever since.

India was one of the world’s richest countries
in that age, so the capital’s commercial
quarter was one of the most important
trading and business centres in the East. The
original Chandni Chowk was built around a
canal of the Yamuna, which passed down the
street, forming a pool that reflected the

moonlight and gave the area its name.

The business of Chandni Chowk was

business only. Some people say that it was
the ruthless reprisals from the British after

the 1857 Mutiny/War of Independence

that destroyed the peaceful character of

h

owk; as did the looting that wyg

the hallmark of the East India Company

soldiers. Others say that the rot set in afte,

New Delhi was created in the 20th century.

Either way, Chandni Chowk is a mess now. |

is overcrowded, parts of it are dirty and itg

wonderful historical mansions are now in

disrepair. In an era when the world’s great
squares have become landmarks, why should

Chandni Chowk become a slum?

106. Study the following statements :

A. A canal used to run through
Chandni Chowk.

B. Business and trading was done
on the banks of the canal.

C. People visited Chandni Chowk to
view the moonlight reflected in

the canal.

Which of the above statements are
true?

(1) A, Band C

P-11/11

(2) A and B
(3) Band C
(4) Aand C
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107. Shah Jahan named the new city of | 111. “.. a pool that reflected the

Delhi, Shahjahanabad. It shows his : moonlight ...”
(1) love of art Which part of speech is the
) underlined word?
(2) pride
(1) An interjection
(3) modesty
(2) A pronoun
(4) character (3) An adjective

(4) A determiner

108. By Delhi standards, Old Delhi is

called young because : 112. “.. terribly ancient, considering
(1) it was built around it e
1640-1650 AD The underlined word is a/an :
(2) it was an active business centre (1) adverb
(2) noun

(3) it was visited by young tourists
’ _ 3 ticipl
(4) it was inhabited around R] pReaps

1000800 BC (4) verb

) 113. “Eithe ay, Chandni Chowk is
109. During the Mughal period, Delhi was a mesrs n‘:wj,,"
very prosperous because :

Th d 4 th .
(1) it was built by Shah Jahan e word ‘mess’ means the same as
(1) upset
(2) it was looted by East India

Company’s soldiers (2) canteen

(3) a lot of trade and commerce took (3) snare

place here (4) confusion

(4) it was ruled by the rich Mughals
114. “.. a pool that reflected the

moonlight ...”

110. East India Company's soldiers were : The word opposite in meaning to
‘reflected’ is :

(1) greedy but not cruel
(1) discredited

(2) noble and brave

(2) imitated
(3) cruel and greedy (3) claimed
(4) cruel but not greedy (4) absorbed
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J17. During his lfetime, the: Poek i

Directlons : Read the extract given thought about *

helow  and  anewer  the questions that . human heart

follow (Q. Now., 116 to 120) by selecting {1} love 18

the correct/most appropriate options. (2) the rat race of man

I'love the Brooks which down their (3) the dawn of the new day

channels fret,
Even more than when | tripped lightly (4) mortal nature of
an they,;
The innocent brightness of a new-born Day ) .
y « the poet 18 thankful for :
In lovely yet; 118. Today

The Clouds that gather round the setting sun the human heart which is full 4
Do take a sober colouring from an eye - joys and sorrov/s
That hath kept watch o’er man’s mortality; -
Another race hath been, and other palms B. the beauty of the meane &

are won. _—
ms won by him in the race

Thanks to the human heart by which we live, C. ;?ii?eal
Thanks to its tenderness, its joys, and fears,
To me the meanest flower that blows can give Which of the above are true?

Thoughts that do often lie too deep for tears.
(1) A, Band C

115. The poet loves the brooks : (2) Aand B
(1) because he too can run briskly (3) Band C
like them (4) Aand C
(2) because they flow between their
s 119. The figure of speech used in line 1 is;
(3) now more than when he was (1) irony
young

(2) a simile
(4) as they are overflowing their ’
banks (3) a metaphor

(4) personification

116. The clouds around the setting sun

make the poet : 120. “The innocent brightness ..” is an
example of :

(1) sad
(1) irony

(2) thoughtful
(2) metonymy

(3) happy (3) synecdoche

(4) curious (4) transferred epithet
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PART—V
Language— 11

ENGLISH

ion
IMPORTANT : Cangdidates should attempt Qquestio ge—1I only.
121 to 150’ if 'Lhe}' have opled ENGLISH as Lang

S

s from Part—V (Q. Nos,

Directions : Answer the following questions
Q. Nos. 121 100 135) by selecting the
correct/most appropriate options.

121. When children are introduced to
English as a second language :
(1) they should read first

(2) they should begin with letters of
alphabet

(3) they should be exposed to
language orally

(%) they should begin writing first

122. Eclecticism in language teaching
refers to using :

(1) all the methods to teach language

(2) appropriate strategies  from
various methods of teaching

(3) the best method of teaching
(4) technology to teach language

123. Which of the following approaches/
methods advocates linguistic
competence and performance?

(1) Communicative approach

(2) Grammar-translation method
(3) Direct method

(4) Structural approach

124. Global listening is not listening :
(1) for specific information

(2) without being constrained by
preset questions or tasks

(3) at different levels of compre-
hension

(4) for improving recognition of
spoken text

P-1I/II -

126.

127.

128.

. llowing activities needg
Which of th: rfo :are ' helping

i to produce the
-native speakers
gc?:nds of the target language?

(1) Distinguishing the vowel from
consonant sounds

(2) Imitating the way a native
speaker produces sounds

Ensuring that the words spoken

3
- are intelligible to others

(4) Maintaining the regional

interference

The concept of transformative-
generative grammar was given by :

(1) Bruner

(2) Ferdinand Saussure
(3) Noam Chomsky

(4) Piaget

Tail question also refers to :
(1) follow-up question

(2) question tag

(3) insignificant question

(4) most important question

A teacher of Class VII while teaching
th_e _poem, The Solitary Reaper by
William Wordsworth asks children to
find how the last words of each line

sound. What is she trying to draw the
attention of learners to?

(1) Theme of the poem
(2) Spelling of words
(3) Rhyme scheme

(4) Vocabulary



129. To

help the students overcome the

problems of spelling mistakes, the

teacher will use
strategy.

(1)
(2)
(3)
(4)

—— as the teaching

loud reading
brainstorming
pronunciation dril]

dictation

130. Grammar-translation me
! _ thod
teaching English heavily relies on :Of

(1)
)
(3)

(4)

form-focussed teaching
meaning-focussed teaching

direct teaching as a strategy for
learning

language use as the main focus

131. Language proficiency refers to :

oo w P

fluency
accuracy
appropriateness

efficiency

Which of the above are true?

(1)
(2)
(3)
(@)

132, Written

A, Band D
A, Band C
B, Cand D
A, Cand D

day-to-day basis is :

(1)
(2)
(3)
(4)

P-1I/11

rubric
anecdotal record
portfolio

rating scale

description of a child’s
progress that a teacher keeps on a

133. A teacher of Class VI in a writing
assessment task asked students to
write on : “If 1 were famous for

something ...”. This is assessment of
afan _____ answer.

(1) narrative

(2) extrapolative

(8) factual

(4) descriptive

134. A good language textbook should :

A. contain learner-centred materials

B. contain teacher-friendly instruc-
tion and content-related

materials

C. incorporate language skills
throughout

D. have more syntactical items in its
content

Which of the above are true?
(1) B, Cand D

(2) A, BandC
(3) A,Band D
(4) A, Cand D

135. Kavya notes down the errors
committed by learners of the class
and discusses them once in a
fortnight. What is this practice known

as’?

(1) Providing feedback
(2) Evaluation

(3) Assessment

(4) Error correction
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Directions : Read

below and answer the questions that

follow (Q. Nos. 136 to 143) by selecting the
correct/most appropriate options.

the passage given

“Although India has a tradition of women
warriors, participation in the Salt Satyagraha
was their firgt appearance in any modern
militant politica) campaign and I could hardly
Suppress my excitement at the enormity of
the occasion and my own good fortune to be
amongst the first. As I attached my name to
the pledge to devote myself to my country’s
freedom battle, my hand shook a little under
my tumultuous emotions. It seemed such a
stupendous moment in my life, in the life of
the women of my country. I felt I was tracing
not the letters of my name, but recording a
historic event. There was not much time for
thought, however. The next instant we were
filing out, taking the road to the sea,
marching  with

quick Great

sky-rending cries or ‘Jai’ filled the air. Heavy-

steps.

scented flower garlands almost smothered
us. From the balconies and roofs unseen
hands showered rose-petals until the road
became a carpet of flowers. Often our march
was stopped and bright-eyed women
sprinkled rose water from silver sprays,
tipped our palms with sandalwood paste and
perfume and blessed us waving lights round

our heads and faces for good omen.”

The long narrow strip of sand that borders
the city like a white ribbon was transformed

this morning into another sea—a sea of

P-11/11

human faces that swayed and danced and
e deep azure

2
waves that rimmed the shore. The city
t its entire

bobbed about even as did th

seemed to have disgorged almos
It was not the

reaking

population onto the sands.
struggling batch of seven that was b
the Salt Law, but hundreds and thousands
now filling the water’s edge. And still they

n
kept coming, thousands of women amongst

them, striding like proud warriors, gracefully

balancing their pitchers of maroon-red earth

and shimmering brass that scattered a
thousand hues as the sunrays struck them.,
Even as I lit my little fire to boil the saltwater,
[ saw thousands of fires aflame dancing in
the wind. The copper pans sizzled in laughter
while their bosoms traced the white grains of
salt as the heat lapped up the last drop of

water.

136. Participation in the Salt S?tyagraha
evoked in the author a feeling of :

(1) ecstasy
(2) pride
(3) excitement

(4) fear

137. The author took a pledge to :
(1) launch a literacy campaign
(2) fight against social evils
(3) serve the poor people of India

(4) be part of India’s freedom struggle

54



1 38- The Warm
Satyagrahjg

(1)

Welcome

showeq - Bven: o s

gB&’;?:-ral resentment
i1sh CXploitation of the

that the Indian

event into g Joy

against
people
People turn every
ous occasion

(2)

3
(3) Lhe fu-ll Support of the people for
reaking the Salt Law

(4) People’s hatred of the British
139, «p sea of h

uman faces that
and danced” means : e

(1)

human faces resembling a sea

(2) people dancing while bathing

(3) people bathing and frolicking in
the sea

(4)

a large number of enthusiastic
people

140, Women lighted their little fires on the
seashore to :

(1)

mal'ce tea and drink it to overcome
their fatigue

(2)
(3)
(4)

protect themselves from cold
boil seawater to make salt
express their anger against the
British

141. The word which nearly means the
same as ‘stupendous’ is :

(1)
(2)
(3)
(4)

wonderful
crucial
significant

influential

142. The word opposite in meaning to the
word ‘proud’ as used in the passage

18 :

(1) gentle
(2) humble
(3) decent
(4) fawning

P-II/1I

143. Which part of speech is the
underlined word in the following
sentence?

“l could hardly suppress my
excitement.”

(1) Pronoun

(2) Adverb

(3) Adjective

(4) Conjunction

Directions Read the passage given

below and answer the questions that

follow (Q. Nos. 144 to 150) by selecting the
correct/most appropriate options.

Where does all our garbage disappear once it
leaves our homes? There are four methods of
managing waste recycling, landfilling,
composting and burning. Each method has
its strengths and weaknesses.

Recycling is the process of turning waste into
new materials. For example, used paper can
be turned into paperboard, which can be
used to make book covers. Recycling can
reduce pollution, save materials and lower
energy use. Some argue that collecting,
processing and converting waste uses more
than it saves.

Landfilling is the oldest method of managing
waste. Landfilling is to bury garbage in a
hole. Over a period of time the process of
landfilling has advanced. Garbage is
compacted before it is thrown into the pit. In
this way garbage can fit in each landfill.
Large garbage bags are placed at the bottom
of a landfill so that toxic garbage juice does
not get into the groundwater. But in spite of
the bags, landfills may pollute the
underground water. Not to mention that all

garbage stinks. Nobody wants to live next to a
landfill.

As landfill space increases, interest in
composting grows. Composting is when
people pile up organic matter, such as food
waste, and allow it to decompose. The
product of this decomposition is compost.

99

Compost can be added to the soil to make the
soil richer and better for growing crops.

[ P.T.O.



One thing that is easier to do is burning
garbage. There are two main ways to burn
waste. The first is to harvest fuel from the
waste. The second is to burn the waste
directly; the heat from this burning process
can boil water, which can power steam
generators. Unfortunately, burning garbage
pollutes the air.

144, Garbage recycling :
(1) uses more energy than it saves
(2) saves a lot of energy
(3) saves only a little energy

(4)

wastes a lot of energy

145. Consider the following statements :

A. Landfilling does not allow water
and air pollution.

B. Composting is better than
landfilling.

Which of the above statements is/are

true?

(1) Both A and B

(2) Only A

(3) Only B

(4) Neither A nor B

It is safe to dispose of garbage
through :

(1)
(2)
(3)
(4)
P-11/11

146.

burning and landfilling
recycling and burning
composting and burning

recycling and composting

56

148.

149.

150.

consider the followin Slatemerfts :

W e

. puminé pe a source o
e tatements is/arq
. of thie above ®

ke

(1) Only B

(2) Both A and B

) Neither A 7F B

(4) Only A

Compacting of garbage is done to :

(1) avoid soil pollution

(2) protect groundwater

(3) remove the stink

(4) save space

« _ the process of turning waste ..”

The word 4urning’ is a/an :
(1) participle
(2)
(3)

(4)

noun
verb

adjective

“There are two main ways to burn
waste.”

The underlined word is a :
(1)
(2)

gerund
noun
(3) verb

(4) participle
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